3.1

(VLLE)

NRTL

(association)

(p.)

modified Raoult’ s law

)

and

VLE LLE
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3.2

Purolite CT179

(Hangx et al., 2001) Purolite CT179

CH,COOH + C,H,0H__ ~CH,COOC,H  + H,0

(3.1)
Purolite CT179

1.5
Yy = kX X pon _k2xEt0AcxH20 (3.2)

K, =" (k)
(k)

_ —Ea/RT
k, =k, e

P =h (3.3)
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k.,  Arrhenius (mo%gcat.sec) Ea (% ole) R

8314 (// ) T K

— . (-483)/RT
k, =4240000-e (3.4)

_ . (-662)/RT
k, =455000000-e (3.5)

(X.,)

(Q:)
O, =R-AH,, (3.6)

Aern = Vi : AH i
(3.7)

: ] Lo
R: (noemin) v,

. J
AH (8,564 41016)

rxn "

0 - . J
AH/J" ! ( 41016)

3.1

HAc EtOH EtOAc H,O

o\J
AH . (41016) -432800 -234950 -444500 -241814

Aspen Plus (1998)
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3.3
EtOAc
CH,COOH + C,H, OH(::’ZI CH,COOC,H, + H,0
HAc EtOH

EtOAc Hzo

CH3COOC2HS5 < C2H50H < H,O < CH3COOH

77.1°C 78.3°C 100°C 117.9°C
3.2
EtOAc / H,0
3.2
Azeotrope Boiling point( ) EtOH(mole %) H,O(mole %) EtOAc(mole %)
EtOH/H,0 /EtOAc 7023 11.26 30.85 57.89
EtOAc / H,0 70.38 — 3115 68.85
EtOAc / EtOH 71.81 46.2 — 53.8
EtOH / H,0 78.174 90.37 9.63 —

Lai et al. (2007)
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3-1

/ EtOH EtOAc/EtOH

ChemCAD (1998)
3-1 H,O / EtOAc H,0

Hzo / EtOAc

Water / Acetic Acid Ethanol / Water
1.0 1.0
0.8 0.8 4
o 0.6 1 z 0.6 1
> .
0.4 > 0.4 A
0.2 1 0.2 A
0.0 T T T T 0.0 T T r :
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0
X11,0 XEon
Ethanol / Acetic Acid Ethyl Acetate / Acetic Acid
1.0 1.0
08 T 08 4
0.6 0.6
3 S
= &
> 041 > 0.4
0.2 1 02 1
0.0 T T T T 0.0 T T r :
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0
XEoH XEt0Ac
Ethyl Acetate / Water Ethyl Acetate / Ethanol
1.0 1.0
0.8 - 0.8 1
0.6 1 0.6 1
S S
& &
> 041 > 0.4
0.2 0.2 1
0.0 T T T r 0.0 T T r T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0
XEi0Ac XEt0Ac

3-1
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modified Raoult’s law

Vi

NRTL

Zx] Jl Ji

(1968)

Iny, =

Zxk ki +szk

G, =exp(-a,7;)

Gii =1
— b?/
T” = a”. + T(K)
al.j = 0(/1
7; =7,;=0
a, b,  VLE

33
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(3.8)

Renon and Prausnitz

me Ty m,
Zkakj
k

(3.9)



3.3 NRTL (=H,0 2=HAc 3=EtOAc 4= EtOH)
aij =1 =2 =3 =4
i=1 0 3.3293 3.853826 0.514285
i= -1.9763 0 0 0
i=3 -2.34561 0 0 -4.41293
i= 0.806535 0 -1.817306 0
bij =1 =2 =3 i=4
=1 0 -723.888 -4.42868 444 .8857
= 609.8886 0 -235.279 -252.482
i=3 1290.464 515.8212 0 1614.287
1= -266.533 225.4756 -421.289 0
aij i=1 i=2 i=3 i=4
=1 0.0 0.3 0.3643 0.4
1=2 0.3 0.0 0.3 0.3
1=3 0.3643 0.3 0.0 0.1
= 0.4 0.3 0.1 0.0
Lai et al. (2007)
(association)
Marek and Standart (1955) (chemical theory)

Hayden & O’Connell (1975)

(the second virial coefficients) Hayden-O’Connel
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Marek and Standart (1955)

HAC + HAC <%*25(HAC), (3.10)
1 2
nHAcl (monomer) nHAcZ
(dimer) ()
( nHAcl) @HACZ) Mige = Mpger + 20509
Ytac Y
YHACZ
Yo = Prye _ Mg T 20, (3 1 1)
HAc — - .
Npge Y0 T hgon T Pgose Mg + 21y, + N0 T hgon T M go4c
R0
Yu,0= : (3 12)
Mppger + 2000 + N0 T Mo T M go4c
_ Meon 3.13
YEon > ( . )
Mpger T M2 T .0 Y Mo Moy
_ M gio4c (3.14)
YEwoae = .

Mppger T 20500 + Mo Y Ngon + Moy

17



Yiga = Pl (315)

Mpger T ger T 0 T hgon M goye

Yo = (3.16)

Miger T Ppger Y0 T hgon T M go4c

Yo = Pmo (3.17)

iyt T Pgaer Y M0 Y Mpog T Mpose

Yoon = (3.18)

Npger T Pyer Y 00 Y o + Moy

Yoon = (3.19)

iyt T Pgger Y Mo Y Mo + Moy

)

_ Yisier + 2Yipse0 (3.20)
e 1+ Y
Y0

=—2 3.21

Y0 147, ( )
_ o 3.22

Y Et04c 147, (3.22)

_ Yon 3.23
YEon 147, (3.23)
(3.10)
_ Vi _ P;Ztcz (3 24)

PY]‘?ACI (PIXI[CI )2

18



Gmehling and Onken (1977)

logK , :—10.421+%

sat sat sat sat sat 2
PHAc_PHAcl—i_PHAcZ_P +KD(P )

HAcl HAcl
K, (Pljrjtcl)z + P;-;:i-z _PIjZi =0
(3.24)~(3.26)

(hypothetical vapor pressure) P

HAcl

sat _1+ V1+4KDP1flfltc
Py = 1K
D

P, extended Antoine

sat
) A— }/HAcxHAcPHAcl/
HAcl P

sat
y. = 7mo*moPuo
o = P

sat
Y _ Y EouXeon P EtOI—/
EiOH P

sat
Y — YV EwoacX Eoac P EtOA/
Et0Ac P

YHACZ

19

mmHg ™)

HAcl

(3.25)

(3.26)

(3.27)

(3.28)

(3.29)
(3.30)

(3.31)

(3.24)



Vi = P'YHZIAcl K (332)

Y Vit ¥ Yiuer + YHZO + Yeon + Yeose =1

(3.20)~(3.23)

34

Antoine extended Antoine

extended Antoine

In(P*") = A, + A, AT+ AT + A,In(T)
A +T (3.33)

P kpa  Ai 34

3.4 Extened Antoine equation

H,O HAc EtOAc EtOH
4 66.74124  46.36224 59.91624 66.39624
4 -7258.2 -6304.5 -6227.6 -7122.3
%E 0 0 0 0
¥ 0 0 0 0
s 4.17E-06 8.89E-18 1.79E-17 2.89E-06
4 2 6 6 2
4 -7.3037 -4.2985 -6.41 -7.1424

Aspen Plus (1998)
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pﬂ‘l

modified Rackett (Reid et al., 1987)

1 S x T [1+1-7,)7]
_:R 17 c Z -
P (Z P, J e
NC
ZRAm = Z'xiZRAi
_T
L=,
bar -cm’®
R 83.144bar-cm’/ ) T,
temperature P, (bar) T, (K)
NC
H, = le. -H,
i=1
(3.38) (3.39)
H, =H, +Cp(T~T,)
H, =H, +H" +C,(T-T,)
EP[ HOi:H(To):O
(%Qnole) H" Watson’s Equation

21

bubble point

(3.34)

reduced

m

(3.35)

(3.36)

(3.37)

(3.38)

(3.39)

T, =298.15K



Watson’s Equation:

/038
\ 1-T
Hevp — Hevp r (3 40)
1-T
H"
T, T
Tr = —b Tr = —;
TC‘ TC
T,: T 1.:
3.5
3.5
Property Symbol HAc EtOH EtOAc H,O
T. (K) 591.95 514 5233 647.13
P. (bar) 57.86 61.37 38.8 220.55
Critical Property 3
V(cm’/mol) 179.7 168 286 55.9478
Z, 0.211 0.241 0.255 0.229
Normal Boiling
T, 391.05 351.44 350.21 373.15
Point(K)
heat of
vaporization H 23920900 38934900 32230800 40799200
(J/Kmole)
C, 139640 102640 226230 276370
Parameters for C, -320.8 -139.63 -624.8 -2090.1
Liquid Enthalpy C, 0.8985 -0.030341 1.472 8.125
J
(&MOIe'K) C, - 0.0020386 - -0.014116
C; -—- - -- 9.3701e-6

Aspen Plus (1988)

Cp

22

=C,,+C, T+C,,T*+C, T’ +C,,T*



(LLE)

(LLE) Vi
NRTL LLE
Newton-Raphson 3-2 -
323.15K NRTL binodal curve
3-3  LLE

Ethanol-Water-Ethyl acetate system
Binodal Curve and tie-line at T=323.15 K by NRTL
(mole fraction)

EtOH

0.0
1.0

EtOAc
1.0

0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0

3-2 EtOH/EtOAc/H,0O binodal curve
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=

Specify T, P, and feed mole fraction, z;

A 4

Guess set of K;= xil/x!
Andset L'/ =1
B=0.5=L'/(L'+L")

A

Calculate x;"=z/[1+B(K;-1)]

A

A

Calculate x;'=K; x;"

END
Output B, x{!, x;"

Calculate v;, "', using NRTL model

A 4

Calculate K;=y;" /v

A 4

Calculate x;'=K; x;"

N-R algorithm :

=%t )

p=p+

e

3-3 LLE

24




(VLE)

(VLE) King
(1980) King (1980) ( )
f(T)=> Kx, -1 f(T) vs T 3-4(a)
y/(%} =In) K.x, l//(%j VS. % 3-4(b)
3-4(a)
(1 av
Typ - T, I, T, 1 )_ ( 1 j
W(/T o) /Tl (3.41)
VLE 3-5
m_'l"’ ) | #(7) :
"-\“-‘- I] =
] L .I . 4 P i | i 1
(a) (b)
3-4
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o

y

Specify liquid mole
fraction x; and P

Y

Guess a bubble-point
temperature T

I
.

A

Ki: 7/1-Pisat/P
using NRTL model to
calculate 7;

YVi=Kix;

Convergence

Iteration algorithm
by King(1980)

A

| Zyi—l‘sg

Check

Yes
End
output y;, Tp, x;
3-5 VLE

26
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